
 2,81 

 2
,8

1 

 1,50 

 1,
50

 

 5,76 

 5
,7

6 

1

Jede woche

Varje säsong
Every season
Jedes Jahr
Chaque saison

Every week
Varje vecka

20h

Chaque semaine

 

Uniplay Eddul lekhus

 1 ( 5)
MASW83203

52023-11-15PKHB

HAGS Aneby AB, Box 133, SE-578 23 
Aneby, Sweden, Tel: +46 380 473 00, 
http://www.hags.comHAGS

http://www.hags.com


 1,84m 

 1,84m 

 0,57m 

 0,57m 

 0,57m 

 0,57m 

 0,80m 

0,55

0,55

0,55

1,18

1,181,18

2,35

1,18

3

1

4

2

 
42008010

 0,06m 

 0,10m 

1 2 3 4

Uniplay Eddul lekhus

 2 ( 5)
MASW83203

52023-11-15PKHB

HAGS Aneby AB, Box 133, SE-578 23 
Aneby, Sweden, Tel: +46 380 473 00, 
http://www.hags.comHAGS

http://www.hags.com


3

5

6

1

2 4

4203

3

4

2 4

1

3 5

2

4 2

1

  
  

3

5 3

MASW39775
  

  

  

  

  

  

  
  

6

4

2

1

NR. Description MA Item Number Qty
1 690 x 912 mm 8088300 1
2 1190 x 2099 mm 8088306 1
3 1190 x 2099 mmm 8088323 1
4 1190 x 2099 mm 8100563 1
5 1190 x 2099 mm 8100576 1
6 686 x 430 mm 8088234 1

Uniplay Eddul lekhus

 3 ( 5)
MASW83203

52023-11-15PKHB

HAGS Aneby AB, Box 133, SE-578 23 
Aneby, Sweden, Tel: +46 380 473 00, 
http://www.hags.comHAGS

http://www.hags.com


A

F

10

9

28
291130

31

12

29

30
34

29

28

13

8

32

D D

E

SECTION D-D

33

NR. Description MA Item Number Qty
8 1200x1964 mm SW88942 3
9 770x56x65 SW89045 6
10 Screw, ISO8677-M8x25-8.8 8039277 22
11 Nut, ISO7042-M8-8 8042809 16
12 Screw, ISO8677-M8x30-8.8 8039278 16
13 286 x 498 mm SW83354 1
28 Cap 8 Ø27x11,5 mm 8005956 17
29 Washer, Bolt cap 9x18x2-

ISO4759-3-C 8008849 40
30 Cover 8, Ø18x10mm 8005958 17

31 Nut, DIN986-M8-8 8008753 26

32 1200x1964 mm SW88941 1
33 264x313 mm SW89049 4
34 Screw, wood, DIN571-8x110-

4.6 8008632 1

Uniplay Eddul lekhus

 4 ( 5)
MASW83203

52023-11-15PKHB

HAGS Aneby AB, Box 133, SE-578 23 
Aneby, Sweden, Tel: +46 380 473 00, 
http://www.hags.comHAGS

http://www.hags.com


1 2 3 4

18

15

20

19

21

22

18

16

20

21

22

19

25

24

23

17

27

28

18

17

19

20
2122

17

NR. Description MA Item Number Qty

15 200x500 mm SW83450 1

16 596x759 mm SW83449 2

17 46x46x40 mm 086941; 
08694113 18

18 Screw, ISO8677-M6x25-8.8 8008566 34

19 Cap 6 Ø6,5x21 mm 8005951 34

20 Washer, Bolt cap 6.4x14x1.6-
ISO4759-3-C 8008848 34

21 Nut, ISO7042-M6-8 8042808 34

22 Cover M6, Ø15x10mm 8005952 
(261801) 34

23 120x63 mm SW83471 2

24 Screw, wood, TKFT-6x50-8.8 8008653 6

25 Ø6 16/7 x 3 mm 8035290 6

27 200x372 mm SW83428 1

28 190x180 mm SW83427 2

Uniplay Eddul lekhus

 5 ( 5)
MASW83203

52023-11-15PKHB

HAGS Aneby AB, Box 133, SE-578 23 
Aneby, Sweden, Tel: +46 380 473 00, 
http://www.hags.comHAGS

http://www.hags.com

	Sheet5
	Drawing View31
	Drawing View44

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View45

	Sheet2
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29

	Sheet3
	Drawing View9
	Drawing View10
	Detail View A (1 : 9)
	Drawing View19
	Section View D-D
	Detail View E (1 : 3)
	Detail View F (1 : 10)

	Sheet4
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Detail View B (1 : 7)
	Detail View C (1 : 4)


